

Estrategia de la adición

1. Resolvemos aplicando la estrategia del 10



$$7 + 3 =$$

$$\square + \square = \square$$

$$\square + \square = \square$$



$$4 + 7 =$$

$$\square + \square = \square$$

$$\square + \square = \square$$

$$8 + 3 =$$

$$\square + \square = \square$$

$$\square + \square = \square$$

$$6 + 9 =$$

$$\square + \square = \square$$

$$\square + \square = \square$$

$$5 + 8 =$$

$$\square + \square = \square$$

$$\square + \square = \square$$

$$6 + 6 =$$

$$\square + \square = \square$$

$$\square + \square = \square$$

$$9 + 4 =$$

$$\square + \square = \square$$

$$\square + \square = \square$$

$$4 + 8 =$$

$$\square + \square = \square$$

$$\square + \square = \square$$